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Biology English

The spinal cord is connected to the brain through a skull cavity
known as .......

Foramen magnum
Thoracic cage
Pectoral girdle
Pelvic girdle

PwpnPE

Starch is a polysaccharide made up of a number of glucose ...

1. Polymers
2. Dimers
3. Monomers
4. Fibers

The part of flower that attracts bees and protects inner
reproductive structures is .....

Corolla (petals).
Pistil.

Calyx (sepals).
Style

PwpdPE
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Chemistry Arabic
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Chemistry English

Which of the following elements is metal?
1. Nitrogen
2. Fluorine
3. Argon
4. Strontium

What is the nomenclature of MgCl, ?

1. magnesium chlorine.
2. magnesium dichloride.
3. chlorine (II) manganese
4. magnesium chloride.

The correct name of the compound CHz;COOC;Hs is

1. Methyl propionate
2. Ethyl acetate
3. Methyl ethyl ketone
4. Butanoic acid
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Humanities (English)

The northern part of Egypt is referred to as :

Lower Egypt
Northern Egypt
Fertile Egypt

Upper Egypt

hwnNBE

The leader of the national movement in Libya, who was
executed in 1931:

Omar Makram

Omar Al Mukhtar

Suleiman Al Barony
Muhammad Ildris Al-Senussi

e Ve

The view that art is defined by its form is known as:
1. Informalism
2. Expressionism
3. Formalism
4. Structuralism
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Humanities Arabic
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Math Arabic:
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Math Arabic:

Ifm = e?™3 thenm=...

1.9
2.6
3.3
4.e

Find an equation of the tangent line to y = f(x) at x = -2.
f(x)=x"+x"+x
l.y=9x+12
2.y=-2x+4

3.y=2x+4
4.y=9x-12

Using the position function s(t) =-3t* —4t° —% , find the velocity function.

v(t) = —12t° —12t? +i2
1. t

v(t) =12t +12t° +i2
2. t

v(t) =—12t° —12t? —iz
3. t

v(t) = —9t° — 8t° +i2
4, t
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Physics (Arabic)
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Physics (English)

The equivalent resistance of a series combination is

ol i

Equal to the largest resistance
Smaller than the smallest resistance
Larger than the largest resistance
Equal to the smallest resistance

The impedance of an RLC series circuit is definitely increased if

1.

2.
3.
4,

R increases
L decreases
L increases
C decreases

When a photon collides with a free electron at rest and the direction of
motion of the photon changes

pwN e

both the magnitude of the momentum and the total energy of the photon decrease
the magnitude of the momentum of the photon does not change

the momentum of the electron does not change

the kinetic energy of the electron does not change.




